EARAZROREIERT — 2 N—XBISY —F 20195E3H21H () 21[@4R3H

il S>%—# C15 EEDE T
[xE£] 1 %&:270,000  2#%:62,000™  33#%&:32,000M  43%&:24,000H ~ 57#%&:16,000 M
B ®RBE RESB MK MHE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
s BRTF :32. -3-2- . — REHD (&R
1 6 Frl)— LT v— 4 6 = 1(3_2)7 4-3-2-2 | 40.1 6 <5+110) ﬁﬁam
R:Fr)—v59> B:Y<vshq4a— BRI 7— L
" FEEt 238, -1-1- . - SEEF (&R
> 4 YvhHYE—O— 4 4 56.05 1(353)7 1-1-1-1 | 41.3 1 ?Es)) =
R:NZ—kba1—X B:v<why<)y> [E]=sEae
s . 4 | RERKA 1:33.8 7-6-4-5 | 40.8| — 3 496 | HARR (£R)
3/8|9 | FARYE> 54.0 (179) wony | @) 77— bETa
R4 hT—EY BEY/TL—2X IVI5TT— L
S FAIBAL : -3-5- — £H—& (£R)
Ml ; FIREEVEIAE S 6 k0 (11.314/.21) 3-3-5-3 | 41.0 2 (ﬁg) L
AL TyA47 B:7AOYT1T)— B #—
—sn BRARA s :34. -9-6- . — Hig—t (£R)
B> FL R IR RY 49 e 1(314)3 9-9-6-7 | 40.5 7 (4_679) s
R:Fa72480 BerRo¥o5 HBET7—L4
. KEHER :34. ~6-6- . - =iERe (£R)
6155 94 KT A 4 9 57'?5.0 1(324)7 6-6-6-6 | 41.2 10 (ﬁ;) el
R:hIhAT44— B:4—057)20 Al 28l
; P > FARK— 134, -2-2- . — FlIHEZ (£R)
- P 2 HF LA TR > 4 or 1(13/42>8 1-2-2-3 | 42.3 5 <5+159) i (
R:A—KH+a7 B4 —FLLy b TFEERRHS
5 e FHEHA : -10-10- — 2AKE (£R)
gl7l7|7vR3IN 45 i 1.(345).6 10-10-10-9 | 41.0 4 (ﬁ;) i
L:N—HNK B:X/—ISL—F NVERNTT— L
= MEBHh : -8-9- - HEf (2R
gl1l1|1>r7s7—% 5 | B 1.(336).3 8-8-9-10 | 42.2 9 ;1_(24) gﬁﬁg( )
X:p—-I2 g0y Bibh—tlT7E-L MEX %Y K
. HR{EE] .36, S . — HiEg—th (£R)
1018110 FLIAYY— % 9 A 1(326)7 5-5-8-8 | 43.2 8 :?2) i
Ri¥riniO— BT I(%55 BEMEESEN RRUS
® 1 — @B
13=7r= (4,8),3,6,10,5,9,1,2,7
2a=5F= 4,8,(3,6),10,(5,9) ,1,2,7
== 4,(6,8),9,3,(2,5),10,1,7
43—+ — 4,6, (3,8),9,5,2,10,7,1
[ /N
B 6 2,060 714K 4-6 1,010 e E 4-6 2,560 JEE 4-6-9 2,810
B B 6 310H 6-9 770M e B 6-4 3,390 JEE 6-4-9 23,6004
4 130H4 4-9 320M B & 4-6 2,550M
9 1509 B H 6-4 6,720M

ABICOVWTRDTEEERROODE. TR LIV,



